

Market Intelligence Report 2013 Colorado Springs

🗎 September 3, 2013 / 💄 By Sara E. Olson, MAI



Colorado Springs, situated near the base of Pikes Peak at the eastern edge of the southern Rocky Mountains, features a diversity of attractions and economic drivers. Part of the greater Front Range economic base, which includes a high concentration of military installations and companies that contract heavily with the government, Colorado Springs is home to the North American Aerospace Defense Command (NORAD) and the Air Force Academy. The introduction of telecommunications and high-tech firms to the area over the past several

years has helped give the economy a broader base. The area also hosts the national headquarters for Olympic athletics and athletic associations, and The Broadmoor hotel and resort has been a high-profile international travel destination for nearly a century. The hotel industry in Colorado Springs, driven by demand from tourism, the government, and commercial entities, suffered setbacks during the recent recession but has since made a marked recovery in terms of transactions and overall performance.

Black Forest & Waldo Canyon Fires

Natural catastrophes have dealt successive blows to the area over the past 14 months. Colorado Springs was still recovering from the impact of last summer's Waldo Canyon fire when, in June of 2013, another fire blazed in the Black Forest northeast of the city. The Black Forest fire destroyed 14,280 acres and more than 500 homes. The two fires resulted in meeting and group cancelations throughout the city, as well as canceled or postponed vacations during the market's peak season. Federal funds helped boost tourism following the Waldo Canyon fire in support of a "Welcome Back" campaign, with the City targeting regional and national markets to bring in repeat visitors. City officials are seeking new funds and promoting more campaigns in an attempt to undo the negative effects on group and leisure travel suffered by Colorado Springs over the past two summers.

Economy Update

The following table illustrates historical and projected employment, population, and income data for the overall Colorado Springs market as of year-end 2012.

HISTORICAL & PROJECTED EMPLOYMENT, HOUSEHOLDS, POPULATION, AND HOUSEHOLD INCOME STATISTICS

Year	Total Employment	% Chg	Office Employment	% Chg	Industrial Employment	% Chg	Households	% Chg	Population	% Chg	Household Avg. Income	% CI
2000	253,700	_	78,559	_	38,031	_	204,900	_	548,830	_	\$81,437	_
2001	249,070	(1.8) %	77,712	(1.1) %	35,946	(5.5) %	210,810	2.9 %	562,650	2.5 %	81,594	0.2
2002	247,030	(0.8)	78,835	1.4	33,906	(5.7)	213,150	1.1	567,180	0.8	82,636	1.3
2003	244,670	(1.0)	78,575	(0.3)	31,869	(6.0)	216,140	1.4	573,430	1.1	83,752	1.4
2004	249,800	2.1	82,045	4.4	31,705	(0.5)	220,080	1.8	582,620	1.6	88,112	5.2
2005	255,770	2.4	84,746	3.3	30,284	(4.5)	225,150	2.3	595,460	2.2	91,526	3.9
2006	258,770	1.2	86,305	1.8	29,990	(1.0)	229,510	1.9	606,280	1.8	95,395	4.2
2007	261,670	1.1	87,776	1.7	29,398	(2.0)	232,930	1.5	614,830	1.4	100,414	5.3
2008	255,770	(2.3)	87,222	(0.6)	27,181	(7.5)	237,220	1.8	625,230	1.7	99,575	(0.8
2009	246,330	(3.7)	85,331	(2.2)	24,326	(10.5)	242,340	2.2	640,260	2.4	97,242	(2.3
2010	246,730	0.2	84,763	(0.7)	23,738	(2.4)	249,100	2.8	658,490	2.8	102,645	5.6
2011	248,770	0.8	85,558	0.9	23,813	0.3	253,330	1.7	665,190	1.0	105,886	3.2
2012	245,190	(1.4)	86,074	0.6	23,132	(2.9)	258,120	1.9	676,340	1.7	107,891	1.9
orecasts												
2013	247,730	1.0 %	87,410	1.6 %	23,025	(0.5) %	263,310	2.0 %	687,020	16 %	\$110,992	2.9
2014	254,650	2.8	90,160	3.1	23,224	0.9	268,920	2.1	697,320	1.5	116,923	5.3
2015	261,620	2.7	92,774	2.9	23,543	14	274,410	2.0	707,150	14	122,305	4.6
2016	266,710	1.9	94,616	2.0	23,749	0.9	279,570	1.9	716,520	1.3	126,795	3.7
2017	269,000	0.9	95,457	0.9	23,680	(0.3)	284,520	1.8	726,160	1.3	130,323	2.8

Summary

Institutions ranging from Olympic centers to major military bases underpin the economy of Colorado Springs. Tourism brings additional demand to area hotels, which have noted improvements in transactions and performance over the past year.

FILED UNDER CATEGORIES

Economic Trends and Cycles

North America

		Source: R	EIS Report, 4th Quarter,	2012		
Forecast 2012 - 2017	1.9 %	2.1 %	0.5 %	2.0 %	1.4 %	3.9 %
2010 - 2012	(0.3)	0.8	(1.3)	1.8	1.3	2.5
2007 - 2010	(1.9)	(1.2)	(6.9)	2.3	2.3	0.7
2000 - 2007	0.4	1.6	(3.6)	1.8	1.6	3.0
2000 - 2012	(0.3) %	0.8 %	(4.1) %	1.9 %	1.8 %	2.4 %

While total employment for Colorado Springs has fluctuated since 2000, consistent growth is forecast through 2017. Office employment is expected to experience considerable gains, while industrial employment should realize minimal growth. Household and population growth has been very consistent during the period illustrated, and forecasts are for a continuation of this trend. Household average income has illustrated moderate growth since 2000, a trend that is anticipated to continue.

The following table illustrates unemployment statistics for El Paso County, the Colorado Springs MSA, the state of Colorado, and the U.S. from 2003 through 2012. A year-to-date through June comparative period is also included.

UNEMPLOYMENT STATISTICS

Year	County	MSA	State	U.S.
2003	6.3 %	6.3 %	6.1 %	6.0 %
2004	5.8	5.8	5.6	5.5
2005	5.4	5.4	5.1	5.1
2006	4.6	4.6	4.3	4.6
2007	4.3	4.3	3.8	4.6
2008	5.6(S)	5.6(S)	4.8(G)	5.8
2009	8.8(S)	8.7(S)	8.1(G)	9.3
2010	9.8(S)	9.8(S)	9.0(D)	9.6
2011	9.5(E)	9.5(E)	8.6(D)	8.9
2012	9.3(E)	9.2(E)	8.0(D)	8.1
Recent Month	- Jun			
2012	9.9 %	9.9 %	8.4 %	8.2 %
2013	9.1	9.1	7.6	7.6

^{*} Letters shown next to data points (if any) reflect revised population controls and/or model re-estimation implemented by the BLS.

Source: U.S. Bureau of Labor Statistics

Unemployment rates in the Colorado Springs area generally declined from 2004 until 2008, at which time the recession took hold. Unemployment remained elevated in 2009 and 2010; however, unemployment decreased in 2011, remaining relatively stable through 2012. The most recent comparative period illustrates another decline, although the county and MSA rates remain higher than the state and national levels. Most of the job losses in Colorado Springs took place within the technology sector; however, local employment has remained healthy at major government institutions. Interviews with economic development officials reflect a positive outlook for employment in the area.

The Colorado Springs economy has become more diverse over the last 25 years, expanding from its reliance on surrounding military entities into the broader industries of aerospace, software engineering, manufacturing, tourism, and health care. The large military presence in the area provided some employment stability during the downturn, but the lack of growth in this sector has slowed the city's rebound. The government/military sector is expected to remain a cornerstone of the market given the significant presence of Fort Carson, NORAD, Peterson Air Force Base, Schriever Air Force Base, and the U.S. Air Force Academy; the local military bases had an estimated \$6-billion impact on El Paso County during 2011.

Tourism attractions including Pikes Peak, the Garden of the Gods, and the Royal Gorge Bridge and Park, as well as the Olympic Training Center and the U.S. Air Force Academy, have helped Colorado Springs regain its economic footing. According to economic development officials, the area is now experiencing slight growth, especially along the north side of the Interstate 25 corridor, with several mixed-use developments under construction.

Energy companies such as Ultra Resources, Hilcorp Energy Company, and Mustang Creek have expressed interest in drilling for oil in El Paso County. Both Hilcorp Energy and Ultra Resources have already drilled

exploratory wells in the county along the Niobrara shale formation and have received permits for further drilling. While Ultra Resources announced in March of 2013 that the company is suspending operations in the market, Mustang Creek is looking to target a different area known as the Pennsylvania Section. The company has a lease on approximately 200,000 acres and aims to begin drilling exploratory wells in Elbert and El Paso Counties by late 2013. City officials expect the drilling will spur new jobs.

Office Space Market Update

The following table details Colorado Springs' office space statistics, which are important indicators of the market's propensity to attract commercial hotel demand.

OFFICE SPACE STATISTICS – MARKET OVERVIEW

	In	ventory	Occupied Office	Vacancy	Average Asking	
Submarket	Buildings	Square Feet	Space	Rate	Lease Rate	
1 CBD	34	2,569,000	2,258,200	12.1 %	\$20.93	
2 Central	28	797,000	683,000	14.3	16.00	
3 Northwest	49	2,915,000	2,125,000	27.1	15.73	
4 Northeast	100	4,334,000	3,358,900	22.5	16.25	
5 East	59	3,333,000	2,659,700	20.2	14.44	
6 Southwest	24	921,000	766,300	16.8	15.23	
Totals and Averages	294	14,869,000	11,851,100	20.3 %	\$16.47	

Source: REIS Report, 2nd Quarter, 2013

The Northeast submarket of Colorado Springs contains the largest inventory of office space. The Central Business District (CBD) is the fourth-largest submarket in the city but has the lowest vacancy rate and the highest asking lease rate. Vacancy remains high in the Northeast, East, and Northwest submarkets.

The following table illustrates a trend of office space statistics for the overall Colorado Springs market.

HISTORICAL AND PROJECTED OFFICE SPACE STATISTICS - GREATER MARKET

1			Colorado	Springs Ma	arket		
Year	Available Office Space	% Chg	Occupied Office Space	% Chg	Vacancy Rate	Asking Lease Rate	% Chg
2000	15,136,000	_	13,576,000	_	10.3 %	\$15.17	_
2001	15,569,000	2.9 %	13,137,000	(3.2) %	15.6	15.48	2.0 %
2002	15,755,000	1.2	13,193,000	0.4	16.3	15.12	(2.3)
2003	15,660,000	(0.6)	12,929,000	(2.0)	17.4	14.73	(2.6)
2004	15,481,000	(1.1)	12,581,000	(2.7)	18.7	14.83	0.7
2005	15,145,000	(2.2)	12,765,000	1.5	15.7	15.21	2.6
2006	15,092,000	(0.3)	12,646,000	(0.9)	16.2	15.98	5.1
2007	15,053,000	(0.3)	12,766,000	0.9	15.2	16.53	3.4
2008	14,886,000	(1.1)	12,222,000	(4.3)	17.9	16.80	1.6
2009	14,892,000	0.0	12,019,000	(1.7)	19.3	16.57	(1.4)
2010	14,869,000	(0.2)	11,838,000	(1.5)	20.4	16.57	0.0
2011	14,869,000	0.0	11,831,000	(0.1)	20.4	16.53	(0.2)
2012	14,869,000	0.0	11,947,000	1.0	19.7	16.40	(0.8)
Forecasts							
2013	14,869,000	0.0 %	11,992,000	0.4 %	19.3 %	\$16.57	1.0 %
2014	14,902,000	0.2	12,088,000	0.8	18.9	16.85	1.7
2015	14,964,000	0.4	12,201,000	0.9	18.5	17.17	1.9
2016	14,964,000	0.0	12,333,000	1.1	17.6	17.69	3.0
2017	15,043,000	0.5	12,566,000	1.9	16.5	18.30	3.4
Average A	nnual Compour	d Change					
2000 - 201	2	(0.1) %		(1.1) %			0.7 %
2000 - 200	7	(0.1)		(0.9)			1.2
2007 - 2010		(0.4)		(2.5)			0.1
2010 - 201	2	(0.0)		0.5			(0.5)
Forecast 20	012 - 2017	0.2 %		1.0 %			2.2 %
		Source	REIS Report, 4	th Quarter	, 2012		

Available office space in Colorado Springs has remained relatively stagnant since 2008. Occupied office space decreased from 2008 through 2011, and vacancy peaked in 2010 and 2011. The market has shown positive signs recently, as occupied office space increased in 2012 and vacancy declined. Asking lease rates have yet to recover in the Colorado Springs market, declining consistently since 2008; however, moderate growth is forecast

for lease rates through 2017.

Airport

Annual passenger levels at Colorado Springs Municipal Airport have been declining since 2007, as illustrated in the chart below.

COLORADO SPRINGS AIRPORT PASSENGER TRAFFIC

	Passenger	Percent	Percent
Year	Traffic	Change*	Change**
2003	1,011,643	_	_
2004	1,034,747	2.3 %	2.3 %
2005	1,030,833	(0.4)	0.9
2006	1,017,016	(1.3)	0.2
2007	1,033,586	1.6	0.5
2008	998,347	(3.4)	(0.3)
2009	929,600	(6.9)	(1.4)
2010	863,407	(7.1)	(2.2)
2011	814,336	(5.7)	(2.7)
2012	822,008	0.9	(2.3)
Year-to-date	, May		
2012	307,835	_	_
2013	271,911	(11.7) %	-

^{*}Annual average compounded percentage change from the previous year

Source: City of Colorado Springs Municipal Airport

Denver International Airport is relatively close and offers more flights to more destinations at generally lower prices; hence, many traveling to/from the Colorado Springs area will fly into Denver and drive the 80 miles to Colorado Springs. Beginning in May of 2012, new flights and routes from Frontier Airlines helped reverse the airport's five-year trend of declines; however, the promising outlook for the airport did not last long. In February of 2013, it was announced that Frontier would end all service to Colorado Springs beginning in early April. Since the announcement, airport administrators have looked into replacing Frontier, but no new airlines had signed on at the time of this report.

Hotel Construction Update

According to HVS research, one new hotel is currently under construction in the Colorado Springs area:

• Holiday Inn Express (I-25)

Several properties in Colorado Springs are undergoing renovations or conversions, with other projects in the planning stages. The 80-room Holiday Inn Express referenced above is being redeveloped from an existing office building at Interstate 25 and West Bijou Street, just outside of Downtown; this hotel is expected to open by the end of 2013. A 300-room hotel and water park are in the speculative stage; the multi-use project has been rumored for a location on the north side of the city. The partially completed 300-room Renaissance hotel on the northern end of the city was auctioned off in October of 2011 to its original contractor, who is seeking a new buyer with the capital to see the project through finalization. The hotel reportedly went under contract in June of 2013. If the sale goes through and the construction resumes, the hotel's completion should take approximately one year. One new hotel has opened in 2013, an 82-room Holiday Inn Express located southeast of the intersection of Powers Road and North Carefree Drive.

While several new hotels are expected to enter the market in the coming years, the percentage increase to the overall market supply will be minimal; however, the addition of these new hotels is likely to continue to slow the recovery of hotel occupancy in the local market.

Outlook on Market

Colorado Springs' LART fund lodging tax collects 2% of the previous month's hotel revenues, providing evidence of the growth or decline of overall hotel activity in the city. The following chart shows LART revenues since 2007.

LART HOTEL TAX REVENUES FROM 2007 TO YTD 2013

Month	2007	2008	2009	2010	2011	2012	2012 YTD	2013 YTD
January	\$149,807	\$161,516	\$145,002	\$153,515	\$140,966	\$151,961	\$151,961	\$167,450
February	206,858	202,663	188,324	181,374	181,281	187,000	187,000	189,774
March	205,531	211,165	194,933	195,487	213,691	202,321	202,321	204,715
April	245,790	269,883	209,135	246,690	246,865	258,683	258,683	255,705
May	316,553	342,773	281,840	296,766	311,770	325,617	325,617	342,136
luno	424 650	421 025	260.602	200 702	422 162	455.463		

^{**}Annual average compounded percentage change from first year of data

Total	\$3,578,354	\$3,504,199	\$3,152,497	\$3,300,262	\$3,545,122	\$3,525,663	\$1,125,582	\$1,159,780
December	155,833	131,834	124,067	155,432	156,306	196,674	-	-
November	212,670	179,261	184,646	186,961	182,740	187,158	-	-
October	333,478	275,687	297,282	277,154	301,318	323,656	-	-
September	382,043	362,777	351,111	364,278	411,338	378,677	-	-
August	465,624	466,136	388,930	407,597	463,402	438,961	-	-
July	479,517	478,579	417,535	436,306	512,283	419,493	-	-
June	424,030	441,543	202,024	330,704	443,104	400,402	-	-

Hotel tax revenues decreased in 2008 and again, more dramatically, in 2009. The economic rebound that took hold in 2009 brought increased tax revenues, a trend that continued through 2010, 2011, and through midyear 2012. This growth was quickly halted in July of 2012 when the Waldo Canyon Fire became a national media story. The fire caused many groups to reschedule and many leisure travelers to cancel their trips. The timing of the fire was especially unfortunate since it occurred during the strongest month of this seasonal market. While lodging tax revenues were down overall in 2012, hotel revenues realized gains beginning in October of 2012, a trend that generally continued through May of 2013.

Occupancy and Average Rate

The preponderance of government and military operations in Colorado Springs continues to affect the dynamics of the local hotel market. While these sources provide a steady amount of hotel demand, the low government per-diem rate poses a particular obstacle for area hotels. The per-diem allowance decreased from \$88 to \$84 in 2011 and dropped to \$83 in 2012. The \$83 per-diem rate was extended into 2013, disappointing local hoteliers who were hoping for an increase. The market's seasonality makes the pressure on rates more difficult to manage, as midscale hotels try to balance low-rated government demand with higher-rated leisure demand during the peak summer months.

Occupancy was largely down during 2012, which can mostly be attributed to the impact of the Waldo Canyon Fire. Average rates increased in 2012, a positive sign for the slow-to-recover Colorado Springs market.

Recent Hotel Transactions

The following table summarizes hotel transactions in the state of Colorado over the past two years.

REVIEW OF HOTEL TRANSACTIONS

Property	Location	Sale Date	Price	Rooms	Price/Rm
Crowne Plaza Colorado Springs	Colorado Springs, Colorado	May-13	\$14,000,000	500	\$28,000
Hilton Garden Inn Denver South Meridian	Englewood, Colorado	May-13	15,000,000	157	95,541
Murphy's Resort Estes Park	Estes Park, Colorado	May-13	1,600,000	58	27,586
Mesa Motor Inn	Lakewood, Colorado	Apr-13	1,330,000	47	28,298
Residence Inn by Marriott Denver City Center	Denver, Colorado	Apr-13	000,000,08	228	350,877
Value Place Colorado Springs	Colorado Springs, Colorado	Apr-13	3,500,000	121	28,926
Travel Star Inn & Suites	Colorado Springs, Colorado	Mar-13	1,350,000	76	17,763
Savannah Suites Westminster	Westminster, Colorado	Mar-13	3,850,000	130	29,615
Comfort Inn Aurora	Aurora, Colorado	Mar-13	3,650,000	62	58,871
Valhalla Resort Estes Park	Estes Park, Colorado	Feb-13	2,800,000	25	112,000
Courtyard by Marriott Pueblo	Pueblo, Colorado	Feb-13	6,700,000	163	41,104
Elevation Hotel & Spa	Mount Crested Butte, Colorado	Feb-13	14,000,000	254	55,118
Greenwood Inn Denver Tech Center	Greenwood Village, Colorado	Feb-13	5,500,000	149	36,913
Baymont Inn & Suites Denver West	Golden, Colorado	Jan-13	2,600,000	62	41,935
Comfort Inn & Suites Northeast Denver	Denver, Colorado	Jan-13	3,625,000	138	26,268
Loews Denver	Denver, Colorado	Dec-12	11,200,000	183	61,202
Best Western University Inn	Fort Collins, Colorado	Dec-12	4,325,000	70	61,786
Comfort Inn Colorado Springs North	Colorado Springs, Colorado	Nov-12	2,000,000	70	28,571
Comfort Suites Fort Collins	Fort Collins, Colorado	Nov-12	3,500,000	66	53,030
Red Lion Denver Southeast	Aurora, Colorado	Oct-12	13,000,000	478	27,197
Hyatt House Denver Tech Center Englewood	Englewood, Colorado	Oct-12	11,560,000	135	85,630
Hyatt Place Denver Tech Center	Englewood, Colorado	Oct-12	10,260,000	126	81,429
Hyatt Place Denver South Park Meadows	Lone Tree, Colorado	Oct-12	10,345,000	127	81,457
Holiday Inn Express Denver Aurora	Aurora, Colorado	Sep-12	5,250,000	129	40,698
Barrymore Hotel	Canon City, Colorado	Aug-12	2,700,000	82	32,927
Super 8 Denver Stapleton	Denver, Colorado	Aug-12	2,850,000	115	24,783
DoubleTree by Hilton Denver Southeast	Aurora, Colorado	Jul-12	8,300,000	248	33,468
Quality Inn Denver	Denver, Colorado	Jul-12	2,405,600	112	21,479
Days Inn Colorado Springs Airport	Colorado Springs, Colorado	Jun-12	1,500,000	47	31,915
Comfort Inn Central Denver	Denver, Colorado	Apr-12	4,350,000	161	27,019
Aspen Lodge Resort & Spa	Estes Park, Colorado	Apr-12	\$2,600,000	59	\$44,068
Days Inn Colorado Springs Air Force Academy	Colorado Springs, Colorado	Mar-12	1,400,000	33	42,424
Days Inn Englewood Denver Tech Center	Englewood, Colorado	Feb-12	1,300,000	68	19,118
Hotel Estes	Estes Park, Colorado	Feb-12	1,600,000	52	30,769
Holiday Inn Express Hotel & Suites Montrose Townsend	Montrose, Colorado	Dec-11	6,860,000	122	56,230
Ramada Plaza Denver Central	Denver, Colorado	Dec-11	5,500,000	201	27,363
Marriott Denver City Center	Denver, Colorado	Oct-11	119,000,000	613	194,127
Gables Motel	Colorado Springs, Colorado	Oct-11	140,000	16	8,750
Ramada Limited East	Colorado Springs, Colorado	Oct-11	1,200,000	67	17,910
Residence Inn by Marriott Fort Collins	Fort Collins, Colorado	Sep-11	5,102,515	113	45,155
Courtyard by Marriott Fort Collins	Fort Collins, Colorado	Sep-11	5,057,360	112	45,155
Marriott Fort Collins	Fort Collins, Colorado	Sep-11	10,340,495	229	45,155

The largest of these sales were the Marriott and Residence Inn by Marriott at the Denver City Center, which sold for \$119 million and \$80 million, respectively. The vast majority of the hotels transacted in Colorado during the

last two years represented limited- and select-service properties priced under \$10 million. The most recent confirmed sale was the Crowne Plaza in Colorado Springs, which sold in May of 2013 for \$14 million, or \$28,000 per room. The 500-room hotel, which is the largest in Colorado Springs, was rebranded as the Hotel Elegante. The Value Place and TravelStar Inn & Suites in Colorado Springs also sold in 2013.

Two Colorado Springs hotels face foreclosure this year. According to public records, the Antlers Hilton owes roughly \$36 million, due by November 19, 2013. If this balance goes unpaid, the hotel will be put into a public auction on November 20, 2013. The Comfort Inn near the World Arena is scheduled to be auctioned on the same day if the \$5 million remaining on its loan is not paid.

Brokers' Outlook

According to interviews with hotel brokers active in Colorado Springs, limited-service hotel cap rates are ranging between 9% and 10% depending on the historical operations of the property, with the rooms revenue multiplier ranging from 3.0 to 4.0. Exposure time is approximately twelve months, with several hotels reportedly listed for sale in the market. Brokers report that now is a good time to hold on to a hotel, with typical risk. Select-service properties boast similar investment parameters and a twelve-month exposure time. Full-service hotels are noting slightly lower cap rates, as expected, with a higher amount of risk.

Conclusion

Although slowing business levels, a depressed housing market, and reduced levels of discretionary spending affected the Colorado Springs area during the recent recession, the market has entered into a period of recovery. The large military presence in the city provided some employment stability during the downturn; however, because of freezes and reductions in government spending, reliance on these operations is also creating a slower rebound. Hotel managers in particular have expressed concerns regarding the repression of rates due to the heavy reliance on government per diem. Meeting and group demand in the market has been slow since the recession, though demand from the segment had realized a rebound before the onset of the Waldo Canyon Fire. The federal funds for tourism and the City's application for state funds from the Regional Tourism Act are also expected to help boost leisure visitation. As retail growth continues in the northern section of the city and the potential for oil-drilling revenues spurs the economy, the outlook for the market is cautiously optimistic.

About Sara E. Olson, MAI



Sara Olson, MAI is a Senior Vice President and oversees HVS Omaha, overseeing portfolios, major consulting assignments, valuations, market studies and feasibility studies for our valued clients. Sara earned her bachelor's degree in Hotel, Restaurant, and Tourism Management and a minor in Real Estate from the University of Denver. Her prior hospitality-related experience includes front-line work and sales-focused internships at full-service hotels in Colorado and Nebraska. Contact Sara at +1 (402) 690-0407 or .